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a9y - 30 3T 319 ;400 Time : 3 Hours \Iax. Marks : 400
: | VR TR N '.“
L, B C”:W sefTTd & affan v 11 10 e Tna Wemier uan]]m\u;- _Ilmét, “:erd
visions « Vernier-Scale
qrl & 31 1= UJFTQT 1A 10 T B divisions thiz e
9 R, H | SR A Wl Rl

A 1.8 T F i a2 aur ogm
A M e Bhe s Y iy A §
SRS ] H1 &

(AY 1.804 890
() 1.800 a9

%WS USTTH <hi TS 39 ¥ T T
eI &0 () 9.8 M 2

|

(A) 0.497 . B 0.597 i,
u:‘*) 0.99741 7 (D) 0.994 1.

>7§<x ua; I FEEIT FI H aF 125 1iex

/ ek TRt ST W& & T4 W 5 . 9
S AT B, Al o W1 3G 97 @
(AW 25019 (B) SOfig
9/@ (D) FEERETE

f
".

25
(feeliem) & aur 98 qea =he o 249 v
1 g U 37T 2 | ¥ Whel & | gyl @l
20 Fqat YTl 3 aiel TR | SYH H
A (I H13we) 2

1,7 U B % albde whe 3

e

2

AT 0.0028H - (B)  0.05 ®Hf (
(C) 0.0018E (D) 0.02 941«

L parts

“}'I'hu

111

I e oon the main sc 1
CWhile measuoring 8 length the

zero of the aumu lies just ahead of
1.8 e mark and 4™ division of vernier
coincides with a main scale division,
value of Tenuth is

804 em (By 1.840 cm
1.8 (D) Nonc of'these

s

i o
de 1s divided 1 ()

(A)
(C)

em

The length of sceond’s pendulum at a
place where gravitational acceleration

(1) 1s 9.8 mds-.
(AY 0497
(0 DMN9TFam

().597 m
(V94 m -

(B)
(D)
A body rses vertically up o a height of 125 1m
and comes back at the pont of projection in
5 8. The average speed of bady was

(A) 23 mis (B} 30 mis

(L) Ziora {ID) None ot these

In an strument, there are 235 divisions on
the Vermer-scale which coincide with 24™
division of the main seale, | em on main
scale is divided: in 20 cqual parts. The
[east count of the instrument s

(XT0.002 em (B) 0.03 cm

(C)y 0001 ¢m (D) 0.02 cm
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& Uy fd & fee
(A) Taermya-Tmg o9 § guy- 3187 %
UL Uk d1eft Ty

(B) =E-493 ATh T 99— o 3h!
) F% U Hieft T
7 (C) IE-¥9g U U GEI-3Y &
TYTAT=R Teh Tt 3@
(D) -85y u1% o g9g-31y S+
YUTT-R Teh et @t
o. UF TemeEl yug 30 fir 30 fediee %

;."']

I & qy7 et 40 T, 9% 40 fediraer o
WRW%‘F‘F@WﬁW% | TEPTIET T

algda a2

(A) 35.71 Tepdlimer
(B) 35.0 fepeftraer
(C)  35.81 Ttz
(D) 35.95 frdirga

@ﬁwmwmwﬁm
& G2 HYA I I S

AT T @ E |

FRA BTITFI B Y FRH & |
FABFI M BRA T ARER |
FHATIFLBTIA A TAEE |

(D)

//

L

For uniform motion :

(A) the distance-time  graph i1s 4

straight line parallel to time axas.
(B) the speed-time graph is a straight
ine imclined to time axas. |
(C) the speed-time graph is a straight
linc parallel to time axis.
(D) the acceleration-time graph 1s a
straight line parallel to time axis.

A train first travels for 30 min with a
veloeity 30 knwvh and then for 40 mm
with a velocity of 40 km/h in the same

direction. The average veloeity of train

81 kmvhr
95 km/hr

7. Find out the correct statement with the
help of given time-displacement graph :

a CAR A
= CARB
5
i :
o |
& :
1
L ks
Time —

(A) after time t,, Car A & Car B move

with cqual velocity.

(B) The velocity of Car A is maore
than Car B.

(C) The velocity of Car B 1s more than
Car A

(D) The Car A & Car B are moving
with same velocity.,

WW%%QW / Space For Rough Work

Group-A

fed



8. Wa@ﬁmw Z%m%m 10 N=r 8. A force of 10 N acts on d body of Lo
¥eT 3 . T TR A B | eq formmr am 2 kg for 3 s initially at rest. The
e Hof, aﬁwﬁa‘af@n@@l ? velogigracquired by the body |
(A) I5m/ (B 15 més (3) 20m’s
. MRS } o 20ms b e 3 30 m’'s
(€} 25 nuis (D) 30 m/s (C) 25 m/s (D) 30
V), u= m"@ THAAE =T ° 71 %U Sody  moving with_ unitorm
6 9. 1 84 1, Tg 11 9. 8264 1ft. SRl Ceeleration Ilﬂ"sf..l‘w &4 m in O s H”d‘
8 Emﬁmﬂﬁ% 264 m in 11 s The initial velogity of
e the body is
VLOHR - my 19MA (Ap20ms  (B) LYmSs
(€) 218" (D) 3.0WA (C) 2.1 mss (D) 3.0 mes
0. 3t foradia w s & T @Wf?mm 10, Two cqual and apposite forces act on a
Wmﬁlﬁ%ﬁ aﬁﬁﬁ% (:.Q“‘mf”"“ p{ﬂjﬂ{,t Its HIUEIUII ‘-.\.rl” bL
(A) Wﬁﬁwwﬁm | (A) aftected and slow-down
(B) 9T Bl O &1 St} | (B) affected and speed-up
(C) H‘Tﬁ%ﬁiﬁ?ﬁ{waﬁrﬂ [ (C} attected and stop
(D) W@Tﬁ | (D) unaffected motion
1. w9 fs srgan (Wcﬂﬁmﬁ)% e property of Inertia is most in
(A) WW'& (B) ,E’:Jﬁ‘i | (A} acar (B) a truck
(C) (D) Chaskhad (C) arickshaw (D) acycle
12, U A g o1 d5faa. zﬁﬁzﬁ [ ] [2. 1.0 Newton force is cquivalent to in a
(A 1.0 feem=fim2 C.£.5. System
(A) 1.0 kg—mis?
B) 1.0SE4 =
(8) ; (B} 1.0 Dyne
I((,G-j/l& (Cy 10° Dyne
(D) 1.0 m-gda’ (D) 1.0 g~cmis?
WWWW%& £ 13, The unit of lincar momentun is
(A) N.s (B) kg-m/s* (A) N.s (B) kg-m/s?
(C) Ns (D} ku-m/s | (C) Ng! (D) kg-m/s
W%‘Fﬁé—?%‘@ﬂf&pﬂm For Rmtiglé_gﬁ-’urk o
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4. U d] &1 E{fl?ﬂ £ BEARE o S ATdl 4. A body of mass 10 ke on earth is taken
2 Fsge ZET tj‘%zﬁ 910 TR 2 afe f/':}m carth to moon. [ the value of ¢ on

TR W ¢ 1WA 9.8 T i T 9 carth is 9.8 m's” and on moon s
1.6 A1 A~ &1, A1 9% 1 I5H W 3sHH 1 1.6 m's=. The mass of the body at moon
?PTT i

10~ | ()

KF}EH (B) O8N A) 7 ke (B) SN
(C) 16N (D) 10 fepun (C) 16N (D) 10 ke
%EI ™ e A Uch Eﬂ?ﬁ Ueh Tg e o 15, In Fre., a block of weight 15 N s

%@ﬁ & HER 21 & | Fic &7 %1 U1 ' [un‘@mg from E rigid support by o
SN, A = (210) B s e string. Whalt Tm'u:{{ s exerted by the
_ 5 string on the block 7
diell 9 &
LLLLLLL
LLLLLL L
. ' «— String
«— &g (3R

. %f— Block
“— &S
7

(A) 15 N downwards (as weight)
[‘r%/] N upwards (as tension)
(C } /Ll(}

(A) 15 NS s s s d
(B) 15 N T 3 a9 & &9 3

(C) A
(D) TH B H1E A

(D) None of these

6. =fe tigzﬁ F ZSHH ﬁ « 1024 ey REN 16. Taking} the mass of carth equal to
%ﬁ:’ﬂ 6.4 100t TﬁT q??:ﬂ E3| w‘?{ﬁ 6 > [0 kg and radivs of earth equal to
6.4 > 10° m, caleulate the value of
2000 hﬁ] UL I{Eﬁﬂﬁmﬂ bl HIH 511” grm*imtimm! uccu[crutinn at a height of.
(A) 5.0 i feeg (B) 5.5 ®HiA- 2000 km above the carth surface.
(A) 5.0 m/s* ¢ (B) 5.5 mis?

C) 5.7H@ (D) 5.9 *fiar L ;
( ) (() 5.7 mfs- {D‘} 5.9 m.’gl
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(7. T el gl f52 g gwa &
(A) | Hz
(B) 1000 Hz
(C) 200 kH~
(D) 5 MHz

18, U 32 forgent amer 20 96 < 10 Tt -
5 Gt 8 o1 W 4 kof 8 | 98 Hirwaw
T GA8 W SN o9 gl gae W

@ S

(A) oI 91t arEs (20 gHi) FEafer
erCigciofN

(B) B a1l grsg (5 @) FHeamer
& I |

(C) Teg gIet! 915s (10 9) ST
tecigeicl

(D) %94 B &I 7

19. waq & g (gfar) dar 8 S T
St 8

(A) Frg@ weas gr alaer T 98 Sl
S FA & |

(B) EER A T 1wt 8l
(C) dam e 8 gEae (<1) o |
(D) T8 q =iy T8I

man  can [azet

17. A

frequency.

(A) | H @
~m 10001

(C) 200 kHz

(D) 5 MHz

4 kgt having

weight

m X 5 cm
dimensions 20 cn X 10 cm

18. A brick of

excrts maximum pressure ofl surface

i 11l 1ts
when it is placed on ground with it

(z},}/ﬁﬁgcst side (20 em) vertical {
W -' ) -

(B) shortest side (5 em) vertical
(C) medium side (10 em) vertical

([) None of these

19. The foundation of buildings are made
wider than the wall

(A so that the pressure exerted by the
ilding on the ground becomes

Ty less.

(B) so that constructing the wall is

Casy.
(C) so that the walls look beautiful.
(D) None of these -

¥
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20, e arEAlaeh UF 3R @ wet ufafaeg &
Ty femar S ghar 2
(A) Id U Y
(B) AT <41 §
(C) 3¥aaet gdur g
(D) I9 U oA edur g

21. 1 il geerdt <@ o7 wrEmd (Pascal) |
T & (AR 7 O
13.6 % 10} kg/m’ @& g = 9.8 H1/&?)
(A) 133.28 Pa (B) 133.8 "a
() FRSLEEP {[_)’,]//132.93 Pa

22. EREMR %1 wEm @@ gerd § e @
o9 1 graT 2
(A) oI (B)  3TgaH
(C) 3R TE (D) <™

-
2
3
3

23. BEdle yutfier § WOt WoWd @
FIUAT &
(A) 100 °F (B) 98.7 °F
(C) 212.°F (D) 220 °F

24, wHad equ § =1 yldfsrs g 2
e 3 BieT
- (B) Hin R EET
(C) 3T N FHMH 3R I
(D) e 37T TH 37ThIL T

5. < guae gdul S T 9TER 60° 1 B
S 50 W@ TR § % ney Wl g feRdt
&g % 9 arel ufafera 6 g gl

-

(A) 3 | (B) 3
(C) O () A

o
I

b
L

24.

T2
I‘Ji

A real and enlarged image can be
obtained by using

(A) convex mirror
\_LQ plane mirror /

A€ concave mirror

(D) convex and plane mirror

Convert | mm Hg pressure in Pascal.
(Density of Hy = 13.6 + 103 kg/m* &
5 =98 m/s?)

(A) 133.28 Pa
() 133.12 Pa

(B) 133.8 Pa
(D) 132.98 Pa

A hydromeler is used to measure the
following quantity of liquid

(A) Density

;ﬁ»}f’*ﬁﬂ ume 1

(C) Relative density

(D) Pressure

(B) 98.7 °F

On Fahrenheit scale, the boiling point
(€1 212 2E (12) 220°F

of water is O

(A) 100 °F

The Image formed by a plane mirvor s
(A) Erect and diminished

(B) Ercct and enlarged

(C) Inverted and of same size

(D) Erect and ot samie size

Two plane mirrors are placed making
an angle of 60° in between them. For

an  object placed in between  the
mirrors, the number of tmages formed

will be
(BYS —

(A) 3
(C) 6 (D) Intinite

s e 9 51 % RTT SR / Space For Roungh Work
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e i e b B TR

20, Retse =i GRemeiierar @y 2
i (& P OB

(B) ¥ By = Cf 2 |
Y ErErEE B
(D) F=C/>1>Br

Uk T S0, W 3T 36 O garet
gl TAT AT A9 FglRt 546 °K W
AT 4 giEe g

(A) 3T 9T @RI |

(B) 3TIIAH 37747 &1 SR |

(C) 3TFa3 g AT g1 SR |

(D) 399 9 &rs 78

28, BIFRA foretad o wor 1 3R BT 2
(A) =10 7m |
(B) 10 "Wmudlo’mE e
(C) < 10-"Wm
(D) 394 9 iE 751

29, 12 7H Gq uIeliem wtiase faeea s
B 20 °C IO W 2 1 arefle 359
Y[ BIH 9k <hid WU 3 UTH 31F 3TE9N 9T
BT 2 | TR w6 e 2

(A) 33.3°0®  (B) 257m
C) 30umH (D) 287
| . g om a1 gRaERits e T8l g 7
;. (A) CuO (B) CaO
20 180, (D) PbO
34. UMfEn wEigs, gt @ afiea @
f>< o Ieafsid ol &

(A) THIEH (B) 9919
(D) FIH Y g TE

(C) uferfem

Ve B s ] i”“ﬁ_’\(_‘nﬁ sy
1 e ol reactivity of halog are
26. Thet LLiL

cx)TF w6 T : AL ¥ 1
rf.a} 1 - Br - (If 1
oy OF * Br - : |
(12 E ¥ e 2k
‘ o, 15 PSS i
B ; m;uu'}lt ‘ln-:.] tCtﬂDUI‘ﬂturc to

increased 1o ¢

e vas will he
546 °K. The SIS ol the ¢

(XY anchanged
(B) reduee 1o hali

(C) Joubled
(D) Nonhe of these

18, The particle siz¢ of colloidal solution is
K) l[}"’_m
JE/;‘} Between H’i"“ m and 10 Eam
() =T i

{D} Nonce nf th{:s;{:

20. 12 g ol saturated solution of potassium
thmtd At 20 °C. when evaporated to
dryness, leaves 4 solid residue of 3¢
The solubility of potassium chloride 1s

v

(A) 333 o (B3) 25 4
= (0) 30¢g (D) 28 ¢

30.  Which is not a hygroscopic substance
arm"nn” the tollowing ?

¥ a0 (B) CaO
/Vn/ %o/ (D) PhO
31, The gas released  after” reaction of

aluminium carbide with water is

(A) acetylene / (B) marsh gas

(C) cthylcnj}g’{if (D) None of these

!
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YT <1 YA ST ane % ufafia e 2

32
() T8 3elwT T mrar 2 aik

HTFEHTOT el 2 | g 5

(B) U8 sAdH whwn w2 K

SR B R 1

(C) M@ R wWerR &x@ ¢ 9n

FTR{ThToT Bl & |

(D) % Toae am a8 31 =

B2 |

' E;1fﬁ%:

(é (A TR (B) WM

(C) =M (D) HiAH
qay nifvpurel! 99 2

(A) Is— s (B) 2s=25
(C) 2s-2p (D) 2p-2p

ELA

aafufshan @ T Freperd 3
(A) H, T (B) O,7H
(C€) Cl, 7™ (D) CO, 7Y -

=fei 9 g &
(A) R+, TSIHA |
(B) 390, §&I9H |
(C) A 0, ge9H 0
(D) 3T 1, THHM |

- Group-A

TaElTE aighra O = < gafia

9ol H T HOHEE AT W

320 When a metal atont becomes an ion
(A) it foses electrons and 1s

oxidised

(B3) 1t gains electrons and s

reducedd

(C) it gains electrons and is

ax1ised

/;I
]‘.x(D} it loses clectrons and is

~

' reduced

33, Chemical reactions mvolve participation
of

(B) Protons
(D) Mesons

LAY Electrons

() Neutrons

34, Strongest bond is
e e (B) 2s~2s
il

%{% ~2p (D)

}, Bleaching powder on reacting with dil,

2p=2p

sulphuric acid refeases

Lgy}/}'-{z as (B) O, gas

(C) (g,_rgus (D) CO, gas

TR FE® feTu 578 / Space For Rough Work

36.  Nutrino has |
(A) Charge +1, Mass |
_AB¥ Charge (), Mass |
(C) Charge 0, Mass
(D) Charge -1, Mass 1
B



T BIal &
(A) A (B) 1:8
_E'j) el (D) 12

=TI AT 2 7

(A) CO, (B) H,$
, () S0, = T B 7
(. . ;
4 39, T 9o § H* 31rE) ) a2 0
70 tﬁ?ﬂﬁ%ﬁ%l%ﬁﬂqﬁ]ﬂ—l%—
(log,,2 = 0.3010)
(A) 7.699 (B) 7.578
(C) 7.219 (D) 7.188

%ﬁjﬁ%ﬁﬂ?ﬁﬁﬁﬂ?ﬁ@ﬁq@wﬁ

g

(A} T (B) e
(Cy e (D) Ach
T G o1t I3 6 W yeref 8
(A) Nu_j(f."()_; (B) HC/
(C) NaC/ (D) CaCl,

d%w\w%wﬁm%@mmm

W(Wﬁmﬁw%
A) Taferest (B) M1,
]“ m Si| (D) HIW
U s sme d
(A) aTHTEe (B) ToerEe

(C) Hierse (D) WIS

37, The volumetric ratio ol hydregen ang
OXyEen 1N wer s
N BT
(A) &l 4B 4
() 201 (D) ] B

38.  The gas which acts both as oxidizing as
uLH as reducing agent s :
%(}_ (D) None of thesc

39, The concentration of T ojons moa
mole per litre. The
pH of solution 1s - (log, 2= 0.3010)
wf( 7.699 (By 7.57%

(C) 7.219 (D} 7188

- - N
solution is 2 x 10

40. The colour of  Phenolphtheline
Indicator in basic (alkaline) solution s

(A) Red (B)Y Yellow

(C)r-Bluc (D) Orange
41. The substance used in Fire-extinguisher
IS
(AT CO, (B)y HC/
(©yFac (D) CaCl,
The Bessemer converter used  for

smelting of copper contaiggfining of
-, AA) Silica (BYA Bne :

(C) Iron (D) Copper
%THL u‘sppu ore 1s
A) Bauxite (HY Malachite

( ) Camelite {D) Cedarite

& S o [oTT S8 / Space For Rough Work
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%" Wbl % fagrsgisinm 3 A UTH 4. On dehvdrogenation of aleolol we et

glal the compound
(A) 3HEA (B) W {.::‘f--}l”’?\uitll (1) }:HIR{I‘
() Aldehyvde (D) Amine

(C), Ufezares (D) T

/&M i%qqﬁmma‘:{m‘a-{;a E 45, The boilimg point ol a liquid 1nerease
=, AT 1 by agmes I\_'
, (A) mz_lﬂ%‘“@?fh] T T U whien there 1s

3
@ 5 (A) decrease i atmospheric pressure
(1) 2l g T S . .
| HP e T W B) increase in atmaospheric pressure

(C) a3 =1 Zo99H ggr T (C) inerease in mass of liquid
_.@{[}] W@Q‘ﬁ_gqﬁﬁ (I None ol these :

,.. _ & " sres e £ ; . - . . } s
{HTU] SHATR 17 dTet el R 3fTerd $iell 46. The place of clement of atomic numbe
T 2 17 m periodic table is

. * 2 { i\ AR SRR 2 Iy
A VI sEd, Vi h_;\_\:fk} 1 1 peric (. \ [ eroup
5 g ; (13) 1 pertod, VI group
L) Al 34‘@?&, ol EﬂTﬂ ) q"ﬁ? IV period. VIT group
(C) IV 3mad, VI (D) I perrod. VI group

(D) 11 &rEd, VIET

47. Tefafaa 1 e U B : 47, The basic metal among the following is
(A) Na (B) Be S Na (B) Be
: (C) Af (D) Zn fégw (D) Zn
/)/x{?ﬁ Toehi <Rl o 2 48, Alkene. amony the following is
/ C\/ () Tyl (By C,Il, {f‘j} CyHyy, (B CuH
(C) ChH, (D) C,H, ;’9/(4115: (D) C,H,;
,ﬁ/ _ 5 :
. 4 W%Ega DI HUPAC HIH & 9. The IUPAC name of Formaldehyde is
(A) GiHfegaRe (B) HUTW (A) Formaldehvde (By-Nethanal
(C) uiE (D) AT (C) Lthanal (D) Methanol

2 §
UEteH w1 GRS 9E 3

50 Thg: functional  {reactive) Sroup N

(;"&} :;'. C:O (B} o {_JH ' &EL‘L‘[iLL Ltti(i I“w

; SEAY BT {BY — OH
() H I i
(O (D) | | ﬁ OH 1]
= V=l (i) R S D |
e - (=0 - =0
ﬁ%‘ﬂf%%ﬂ STE / Space For Rough Work
Group-A ; 11 U



GUg-|1
SECTION-II

T

| MATIIEMATICS b
5 : ¥ ¥ () (nonng
Ao iy Sk byt AL e lmlrmfm % TLiL?cd(’lt Z 120
7 . hares which arc ¢ = ¢
3 120 (A1he 399) 11T 67,200 =7 Frarwr value) f‘*"ﬂi"{’ :} T 12% dividend s
fema I 2 afe ST 12% F (SR (market value). . <hares. then  the
(fefteme) <) aroon <6 s 2 A S declared UI; { g: RS
icome wolild e~
5 37 2 incos o
1 : E).,{J:_;_.
(A) < 8.004 (B) ¥8.032 (A) T8.06 (B) X o
(€)% 7.004 (D) 26.720 (C) T 7.064 (D) X0.757
R TH &1 8% 317 wrdler & v @ 8 52, Ram has a saving bank :;"_Cfﬂfm.r ,Ujli‘-f;'
30 @i TS = T U w7 fyener Bank of Baroda. A part of the page ¢
Fraa R his pass book is shown below =
| : T — Date |Particulars|Amount/Amount|Balance
I' m %w M 1 U3y ! Sl With- | Depo- (<)
. i () | @ | drawn jsited (T)
oS | BIF 1.500.00 .. () —
1, 98 ¥ July 1,|B/F 1.50).00
s | 9% 1200.00 [2.700.00 98 -
g 98 | . July 8.]By Cheque | 1200.00 [2.700.00
TS | UHE 800.00 [3500.00 98 | 1 .
23, 98 July |By Cash 800.00 3.500.00] .
23, 98
IR | =F | 1.600.00 1900.00 o _ ]
17, 98 ) August|To Cheque {1,600.00 1.900.00
; == | i ey 17, 98 f _
;;‘F’;ﬁs TS 600.00 | 2500.00 August[By Cash 600.00 [2.500.00
el : 27,98

NS W
I8 YU g ™z §eirs, 98 § =

The amount on which he will eam

oM interest in the month of July, 98 is
(A) T 3.500 (B) % 1.900 (A) 500 (B) % 1.900
(C) T2.700 (D) &9 & RIS T (C) 2,700 (D) None of these

e T I @i °§ ¢ 80 wi wig
g9l deh AT BT § | Il @ W e
a1e =9 & e 6% ¥ B, 9 I
WWWWWW:

Mohan deposited T 80 per month in a |
cumulative deposit  account for six
years. It the rate of interest is 6% per
annum, then the amount payable to him
on maturity would be

(A) ¥6,811.20 (B) ¥6,820.20 (A) 681120 (B) 7 6.82070
(C) 'T6,822.20 (D) %6,800.20 ©) T682220 (D) 2 650020

%= B & [T g / Space For Rough Work
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50,

196 3 38220 FT [I.C.F. B
196

() 296

(A) (B)

(D)

200
300

@ R # 616 wewl areh v A
ZHE i 32 Wewi 99w Al AvE H
oS |1 0 ] | 1 wg bt gae S

L

A w0 T oA e ¥ s

HAreRan g, R S el o T 3
(A6 (B) 12
(€ 14 (D) 8

18 fire st & 12 fre = @
ol %0 7 e # | A ol o A g
3 wh & wm W e @ e A de
TR T g e ?

"
"

The H.C.F. of numbers 196 and 38220 IS
u};m«gﬁ " (B) 200
(C) 296 (D) 300

A command of 616 soldiers has to
march behind the army band containing
19 members in 4 parade. Band’s
members and soldiers have to march in
the columns containing equal members.
The maximum number of columns in
which they can march is

(A) 6 By 12

(Cy 10 (D) 8

Sonia takes 18 minutes and Ravi
12 minutes in completing the round of
a cireular path ot a playground. if they
start running from a particular point to
a particular direction at the same time
then after how much time they will
meet each other at the starting point 7

{A} 69-1]1&“},“&35 {B) 30 nﬂnutes ;’I

(A) 60 fime (B) 30 fe
(C) 36 firme (D) 24 _ﬁlﬁz _Eg),;%wil1utfﬁ (D) 24 minutes
us fgum R 2 foas ‘-?E’T'Wﬁ 1 T 57.  The addition and multiplication of zeroes
AT UGS I - 3 3 9 8 of a quadratic polynomials are — 3 and 2.
| | ? The equation of quadratic polynomial 1
24 Jx+2 = —3y+2 '
CAg o0 T AR ) %ﬁg#‘% (Ay2+3x+2 . (B) x*-3x+2
iy P
(€) 2x =3 (D) (C) V42 -3 (D) None ﬂ\ﬂhgsc
58. U AR ¥, iRl @, ISR §8. The length of a rectangular gurde—ﬁ is
3 4 et 7 2 w1 STIARET 36 HI 4 m larger than the width and its half
%ﬁ | 1T <hl Fﬂlﬁ'ié % ' | é perimeter is 36 m. The length ot garden is
(A) 204l (B) 16N (A) 20m (B) 16m
() 10 (D) 151& “(C) 10m (D) 15m
T FeEwA% ﬁ;%W  Space For:Rough Work
Group-/A 13 t ®
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;7; T /I 9TH g -
g \[‘* “\j_} =)
\Fv.r—\fgy={}
LAY x=0Tg y=1)
(B) .1'=]f{?‘-\}}=“—'1
NN RN
Ay =

60. TH T« Y4 <) I FT I 9:7 3R
z b @I B IYE 4:3 2 | AR @E
=i gid wEH ¥ 2,000 F=1 o 2, Al
TH ! 718 3779 2

(A) %9,000

(C)y 27,000

(B) % 18.000
(D) 34 HE &

6 W@WWaﬁmmwxm
\_ T ST g

5 !
1—J+y—2'2
6 3
1 -2
(A) x=5 (B) x=3
1" o x=4 D) 1:2

> 24 - 3+ Gy — 2 % gl SR A
2 wd /2 &, dl 99 37 g B

| el 2

(A) grz*eff (B)

: I .
(C) \2w@2 (D) -;W@2

ﬁﬂb@ﬂ@%ﬁﬁhﬁ@ﬂ%ﬁQPﬂﬁy

O1).

6l.

62.

following  linear

On solving  the
cqualions, Wwe will get the value of
vand v
Jox /iy =0
xﬁf~v@y:“

(Ay v Oand y = ()
(B) v=land y =1
(L) o= \/5 and y = ‘\/:*
(D) v = \/: and y = \E
The ratio of income and expenditure of
Ram and Shyam are 9 ¢ 7 zl_nd 4 3
’f,H[?LLIIkL]‘y I each person I$ saving

% 2.000 every month, then the monthly
income of Rain is
(A) 7 9.000 (By T 18,000
(Cy T 27.000 (D) Nonc of these
On solving the following couple of
equation, we get the value of xis

A 1
o ] oyl 7
63
=l =2
(A) x=3 " (B) v=3
() =" (D) x=2

f two zeroes of 20 — 3 + 6y — 2 are
\f and —\/2 respectively, then the
balance zeroes are |
(“f?).._*]ii“"“ﬁﬁ'_ﬂ (B) 1and?2

i A o

]
) \E and 2 (D) -3 and 2

ﬁm%fmwf Space For Rough Work
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FRIG TRy 3,2

=2or 2 0 gm Y

=
JJ]I_:J_‘]
4.
II

(D) 51§ &1 75

04, Udh Ry a}; m o o e
TR | A 9fe 3 R s @2
&l 1 s itk = 2 3 afe afe d 3

foenell =n A 4 & 9t afuw
T | e | faranfein o deen 2

(A) 306 (B) 26

(€Y 16 D) 46

. 65, TH A 10 T ° 9w < ufage 30 fedt
AT AW F IS 44 Tdt Sl R
13 9 4 aw 40 foprft am < vt v
SS foprt ot % 3TEe STl ® | A 6
feor arit o =t 8

(A) 3%5@@2:1 (B) 8 Tesdireen

63 ’iﬁw‘iﬁ’ﬂ'ﬂ (D) U HIg TR

63. Thc TOOLS nt' qundr;niu

- [_}1'; P L]_TL E

<mf%
Bl

\y/ - and /\/_,]
(C) - A = /_)i

(D) Nonc of these

cquation

%

64. Students of a class are standing in row.
(f pumber of students in a row 18
increased by 3 then the number of row
is decreased by 1 and it number ol
students in row 1s decreased by 3 the
pumber of row is increased by 2. The
number of students in the class are

(A) 3&/ (B) 26
(Y 16 (D) 46

65. A boat covered 30 km in the opposite

-~ direction and 44 km m the direction of
strcam in 10 hour, and in 13 hour 1t
travelled. 40 km  in the  opposite
direction and 55 km in the direction ot
stream. The speed of boat in the
constant water 1s

{A) 3 km'h

/57‘8) 3 ki

(C) 5 km/lh
(D) None of these

(}ruup-;i

e ShId <h ToTC STE / Space For Rough Work M



66. T 0 FAFIHR U it s 8 Rawehl

IWWW@Bﬁ.W%iW
| e Tea @ fafifa oafgarg PSR
qrh frger aTaR AT 9k
e & et aut Sers 12 6 7, 9 4
a1f tfiex 37fires 81 | 39 JMAATHR UTeh @l
TS g0l

Fafearg =
12t
|
(A) 7HL (B) 4
(Cy —1Ht. (D) 6

B B~y S
<1 Spid 7

(A) & Tl O Ao gt

(B) ¢l SR Arefash gl

(C) Wlﬁqﬁ% |

66.

67,

alar park 18 10 be cnn?truutf:(]
whose width is less by 3 m from its
length. s ared Pl S iy RN than
the isosceles U park alrcady
cd whose base is equal to the

lar park and

A rectang

*

iangular

construct
of the rectangt

width =
The length of this

height s (2 m.
cectangular park will be
[soscele Triangle

12 m

| e—— Rectangle

{ﬁm)_?mmf (B) 4m
(C) =1'm (D) 6m
nature  of roots  of quadratic

The
AT - W
cquation 22
(A) Two difterent and real roots
(B) Two cqual real roots

Y Non-real roots
(D) Unknown

4y +3=0 18

(D) 3T &
aaﬁ%mﬁ%ﬁ:ﬂm@ﬂ:ﬂ@w%? 68. How many numbers of two digits are
o . ' - divisible by 37
(&) = (8} 3D (A) 29 (B) 30
(C) 31 (D} 28 .((__‘} 31 {D) 78
@t 21, 18,15, ... SIS ETIG-81 8 ? 69. Which term of series 21, 18, 15
(A) 27 (B) 29 ig— 812 e
(Cy 33 (D) 35 (A) 27 (B) 29
,. (C) 33 (Dy 35
#7100 o I T AT R 70. The total of first 1000 positive whole
[ (A) 500000 (B) 500050 ?E’;‘*hﬂ‘ is
; 500000 B) 50005
(C) 500500 D) 505 e (B} 500050
(D) 505000 (C). 560500 (D) 505000
e B & (7 978 / Space For Rough Work
&
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f mr frg? ABCH, fag b Y@ an

Th

\

In triangle ABC, P ia midpoint of AB

3
t{ O AC T 9y fe B gl and Q is midpoint of AC. IHWAB = 9.6
,,/ AB 06030, BC 1) ) o s em, BC = 11 em and AC = 11.2 cm.
aml, df‘Hr PBCO wyin - The perimeter of trapezinm PBCOQ s -
™ nT‘H '
; [ g Q
4’7?‘_‘ . q R
3 _— \
1.7, v \
gg / C’
' N Ny SR BV
(A) EG,QQ{W H} o QWT/ C i G (13 ke
(C) 222 {9 ¥ 2L em (DY 264 cm
too -2 (D) 26.4 nft |
%y £ . .
| . ﬁqﬁaﬂ;‘né iefl Wb Srgehl T ol i\ girl of height 80 cm s gong away
Uh @ 6 9T ¢ 9 | .3 iy 6 o Dtrom the base of a pole at a speed of
Y e 3 @2 | gfe Y | 3 s, A bulb is fitted in pole at'the
G Hod 1
?:Fcﬂé BRI % i EIT; Iﬁq@ %874, 31 > heiaht of 4.0 m from the base. The size
I :;T}T TG, 38 Teh! 6l (leneth) of the image of the virls will
m & ; be after 4 seconds
(A) _LG i (B) 1.3 (XY L.om By LAm
() 1.09. D) 0.90 . (Cy 1.0m (D) 0.90m
73, U I‘I'[F‘Qi Eﬂ{tr(gqm oy bﬁF % e 71, A ladder is rested along the wall in
Fraren i S & 2.5 9% ?ﬁm o such at WiV }'[hd’[ 1;; hn‘;tmn s ;’;.Stm
away trom the wall and top ¢nd O it
iE[ ;_! S ﬁjﬂ '3{\& 6 HI. =l g ¥ rested on the window at a height ot 6 m
T%@TWWT % | Ol TS T from the ground. The length of ladder
(A) 7.04. (B) 7.5 1S
A 7=
(CY G0, (D) 6.5 /@} e ({?J}y 8
=, . & * = 1
. \ Lo W A o R ; ,
74, 2. jéiZ ?fﬂﬁﬁl rﬂfﬂi o 1: 600 4. 74, A TV, set manufacturer, manutactured
; U 79 99§ ¥ 700 Sl U2 I I GO0 T.V. 1 the 3 year and 700 T.V. in
@ 2| 9 T i & vers ad 1 the 7" year, Assuming that the merease
T 3 v R e & 3o i I [“H{:‘r{hiiftql{‘ll‘l every year is equal and
o L T o definite. The total production in the 7
Eﬁi‘é‘iﬁ?% | T 7 I <hl i 3cTe 4 VCATS Was
(A) 4375 (B) 275 () 4375 <7 (B) 4275
(C) 4075 (D) 3973 (C) 4075 (D) 3975 gfﬁ
ﬁwﬁ %%QGPIE / szu‘,u IFor Rough YWork "Zi
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a@m?ﬁmmﬁarﬁ.aﬁwn‘t%

ﬁiﬂﬁ@ﬂﬁ*{;&iﬂ@é%luﬁgﬁ;
ﬁaﬁf@ﬁ%ﬁaﬁqﬁlzﬁ’m%,a}

ﬂ%mﬁfbﬁ%aﬁaﬁaﬁﬁvﬂ
(A) 114, (B) 13+,
(C) 15, D) FHIARE

g o s (2, 3) wdi (4, 1) 4
SRR R
(B) /52

(A) 43 :
(€) 2 (D) AN T

g e B sy, 20 3) o
(-2.-11)8 g

(A) e |

(B) B sufidd,

(C) Wﬁa@fﬁgw%aﬁﬁj

(D) ki e Hofi g |

U FTE T8V U T 32 @ I
amlnoo%:ﬁ;ﬁaaﬁma@awél
2 ¥ ol &) aiv 1200 Redfiveer
1 & I & | f%a’%m?ﬂ:ﬁ‘a’aﬁ
wrETell % g <Y g gt

(A) 300 Tt
(B) 3300 fopth
(C) 20061 femst

(D)

78,

76.

il

78.

Two poles of height 6 moand 11 m are
erected on the plane ground, The
distance between the bottom part of
these poles is 12 m. The distance
between the top of these poles will be

(A) 1l'm AB) 13m
(C) 15m (D)} None of these

The distance between the points of
co-ordinates (2, 3y and (4, 1) (s

(A) 43 (B) /52
/(.C/)r’ E\E (D) None ot these

The points of co-ordinates (1. 5). (2. 3)
and (-2, -11) are

{(A) co-linecar
ABY ends of a triangle
(C) ends of isosceles triangle

(D) ends of right angled triangle

An aeroplane fly from an airport in the
north direction with speed of 1000 knvhr.
At the same time another aeroplane tly
from same airport in the west direction
with speed of 1200 km/hr.  After

[5 hours the distance between the both

acroplane 1s
(A) 300 km
(B) 3300 km

(C) 200~/61 km

ABY 300161 km

&l By % fora s / Space For Rough Work
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tan (3¢
T() -__—_;—:— W ey tan ﬁﬁg .
cot 25¢ % 79,  The value of Al
cot 25

|

CO(A) A3 | | -
L/ o (B) \7—; (A) 3 {B)“\E
-1 (D) 2

(€)1 (D) \2
L

r‘ ;
g0, Tagart 4, - g3 .
| (4, - 3) 3R (8. 5) = T I gy. The co-ordinates of point  which

2'§|§ g I IMANFEIR 3 - | T divides the line  segment which
awmwﬁﬁ%ﬁmé connecting points (4, --3) and (8. 5)
(A} (3.7 internally in 3 ¢ I ratiois
do7) (B) (7.3 . /
(C) (6. 1) (D) A (A) (3.7 (B (7.3)
(C) (6. 1) | (D) None of these
81. H?ﬁ' oy ;
¥t % faqems (1, -1). g1. The arca of triangle having vertices
/C' (-4, 6) AR (=3, - 5) T 1 Sawer & (1. -1), (4. 6) and (=3, ~5) is
[ R (B) 20 (A) 24 (B) 2
i (D) 12 (C) 16 (D) 12

is right angle & tan A = 1, then the

@ I ﬁi‘gﬁ’i‘ ABC T HIU] B gHHI 3 82, 1fin right angled triangle ABC.angle B

Wtanﬁ=l,?ﬁZsinA.cosAWI{H £

B value of 2 sin A. cos A will be
(A) 2 (B) -2 (A) EK (B} —2
¢y 1 (D) i 94~f (D) -1
cosec 45° b1 HIH 2 g3. The value of cosec 457 1s

(A) A2 (B) 2 /M \2 (B) 2
€) 3 D) 1 (€) 3 "o

84. sin 60° cos 30° + sin 30° cos 60° T 94. The value of sin 60°.cos 30° + sin 30°

@ qA e cos 60° 18
(A) A3 B 1 (8) \3 ™ (B)/'

I
€y 5 o 2 © 5 T

== T % fTe g / Space For Rough Work

Group-A 19



seet A 3y =1
(1) tan-A

{%aswfaﬁ P Hlﬁ 10 41, &3 way
THT IFAT BT 3 ‘%fﬂfﬂ%ﬁimlﬂ
UF &9 T &I T 2 3R g p @
m%&@ammaw w;‘} |
ESIGE hl ARG R~ (13 = 1.732)
(&) 5.324: (B} 6.32 9.
(C)y 7.32 4, (D) 7.524,

87. T4 Q ¥ U gu W wysfia 6w

$ 24%?&&%{1@&%‘1%@@@25%@%
/g fi=ns
(A) 7 A (B) 12 & f?
(C) 15 g (D) 20 TH

88. Teh gl W@HT\?iﬁTlﬁ?T?ﬁ Y

@ T8 T H1 91 T 5,280 2 Isf{@ﬁ""l
,

1.0 ufaq @i 11, <6 A Sard e w5

= BATI
(A) 1925 (B) T 3.850
(C) T 4.025 (D) T 4.125

89. fasar 4 ot 9rct s 99 & Freravs W
101 30° &, HT &ABA &1
(A) 46,1 & (B) 40.1 &>
C) - 4.19 a4 (D) 41.9 3

S0,

“ﬁ'

- 88.

89,

I =& tans ‘\ _

_['L'"L;[ " s cquial e -
—1 > )

(A) seusa (3) —=1. s

() col=AA N 1:11‘11;3/

The ancle of altitude o a 10-m high
heuse Trom the point I on the ground s
307, A flag is hoisted at the Lop ol the
{ altitude of top of

The length of

house, The angle of
Tag from point P s 45°

the pole of flagis = (/3 = 1.732)
LAY« 50 12Mm (B) 6.32m
(B3 “2.2d 05

}Q" 7.32m

A tanuent of lenath 24 em is drawn on
a circle from a point Q. The distance of
The

point Q from centre 1s 23 e
radius ot cirele 18

(&7 em (B) 12 c¢m
(0 TS dm (D) 20 em

The expenditure of barneading ot a
circular field a5 € 5,280 at
< 24 per mcetre. The expenditure on
plovghing of this ticld at the rate of.

tlie date ol

< 10 per square metre wiHl ;

TJ.

tAY T 1,925
(C) 34,025 (D

%

3.85(
1

~H

4_

[~}
) |

It the sector of cirele of radius 4 em
made an angle of 30
the scetor s

(A) 46.1 em-

%},/4.1‘4 ciny-

. then the arca of

(By 40.1 cm?
(D) 41.9 ¢m?

%= % & RTT TS / Space For Rough Work
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“m

28
}%zwu@nﬁaw1o%amﬁ%ﬁgm

g . 5, 100 % ym R
J 7 N O 2 1 e
Wmmﬁmwgf

| T T

TTHTS

40

4
50 S

.
———
—_—

56 .

—_—

60

2
e &

00

g

¥

e

R0) o
:,_.___.._ R

—_—

|
|
88 L)
3

e

92
05

(A) 59.3 (B) 59.6
(C) 60.3 (D) 60.6

R

91. VS 7 9l 9T U TR ST 5 I

IT(erepaT =g B
(A) 7 & (B) 3.5 adl
(C) 4.5 ad (D) 6.5 ot

02. T 4.2 &f 9 g % wE MR Y
] et e 6 @fl ATt w e o &
75 T T ST @ | AT oh SeTs g
LAy 2.7 9 (B) 2.77@H
(C) 2.74 T (D) 2.8 @

90. The marks obtained out of 100
(maximum marks) by the 30 students
of clags X ot a school 1s given in the
following table, The mean of the marks
obtained by these students 1s

1

Marks I| No. of students |
obtained o
1o |
20| 1
|30 o3
40 4
50 3
56 2
60) 1 4
70 4
. !
80 1
38 2
02 3
95 ]
(AT 39.3 (B) 39.6
() 60.3 (D) 60.6

91. A hemisphere is fitted upon the cubical
block of side 7 c¢m. The maximum
diameter of the hemisphere would be

(A) 7 cm (B) 3.5 em
(C) 4.5 cm (D) 6.5 cm

92. A cylinder of radius 6 em is made by
melting a metal sphere of radius 4.2
cm. The height of the cylinder will be

(A) 2.7 em (BY 2.77 cm
(C) 2.74 em (D) 2.8 cm

5 1l %WW / Space For Rnugrh Work
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Tn

B R T e T T

o
5

gl 3
¥ i T
R

R
- TR

TS 75 T 300 # wiligmt 20% 1 B
ferepeft 8 | T T fashe qewr 2

(A) <240 (B} <252

(C)y T 360 (D) 3:;1}13%?%:@,

94. g FEqU T 2,600 yfq Y e ¥ T s
i} & | 598 @ Uk ) 4% 6 7 b @y =

49 % 2,652 2 | g8 SR o e g
STterTe Sreran @y it w e e 2

(A) BT 8% (B) Wﬁﬁ;{/(
(C) M (D) &9 6%

95. TH HMGR T 1.700 % § ait il et &
a aTel %9 FT T 2,850 % 12 A1 I T D
S/ Tasma @ ® 1 ¥ 2050 =1 oy i
w1 8] 39% g0 g 5 7 qrenl &
e gt
(A) 100 (B) 110,
(C) 105 (D) 90

96. U Ut U 3 AT T 5 FHIch e § | 29
ol @ Teh Tie aprell STt 2, 309 ore
817 ! wrfererar 2

: 3
(A) £ (B) 3
1 2
(©) 3 (D) 3

gL
295 pff

93,

94,

06.

o
W

L
| z?}“Q’ o

5.._15"'_ e
An article is haueht for T 300 and sold
at o loss ot 209%. Its selling price s
(A) 240 (By 252
(C') T 3060 (1)) None ot these

Two articles are bought for < 2,600
cach. One of them is sold at a foss of
494 and the average sclling price ot
both the articles is T 2,652, The other
article is sold at a profit percent or loss
pereent of

(A) Toss 89% (B) loss 6%

(C) profit 8% (D) protit 6%

A shopkecper bought locks at the rate
of 8 locks for T 1,700 and sold theny at
the rate of 12 locks tor ¥ 2.850. The
number ot Tocks he should sell to earn a
net profit of < 2.250.

(A) 100 (B) 110 .
(C) 105) (D) 90—~

There are 3 red and 5 black balls in a
bag. One ball 1s drawn from the bao.
The probability ot being red is

-

\i;:.

ﬁ%’
e

o s

———
i

o
o0 | —
—
L/
R
ol B

&| & fore S / Space For [{ough Work
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\3} J’{‘\'\im p

mrr 2 800
s /gﬂ TR 59 anfifen Tarely

Group-4

A #

| 97. A person owned T 800 from the bank
. 2 99 = SR for 2 years at a rate of compound
| )\V} 39 aa?a'?f%?ﬁ‘ﬂ e W%W%ﬁ?n.“ . interest 5% per annum. The amount he
t/ (A) T 8820 L would pay to bank would be
F B B (B) %8800 (A) TRR20<7 (B) T R800
{ 5L (D) %8815 (C) T 8810 (D) TBILS
9. TP 1 AT AT g3 =1 98.  An owner of the factory estimates that
/ I T 15% K WY I g9 F his machine deprecigtes by 15% of its
>\’ RIS I 38 (2 feey ﬁ?l?ia‘]% T e value at the beginning of the year and it
T g 1§ g t depreciates by T 5355 during the
o o5 a1l B T 5,355 second vear, The original value {(cost)
, 1 HINS W‘lﬁ% of the machine is
(A) 40,000  (B) 742,000 (A) T 40,000 (B),T42,000
(C) T 44,000 D) % 45.000 (C) % 44,000 (D) T 45,000
9. U GHHIR TH 9 H I W LI 99, A shopkeeper sells an article at its
; ><j (&é@) 9 % 7,500 9T 129 & Y marked price I 7,500 and charges
F / fershl T whTreRt CERI afe THHIR sales-tax at the rate of 12% from the
& st fsfl w2 180 &7 ¥z 57 (&) customer. 1f the shopkeeper pays a
% FUAT %; S IBs e F F9 wQ@ TOY VAT ot < 180 on selling of an article,
GHITER e . Tfe ST then the price inclusive of tax paid by
A) 76.720 ST the shopkeeper is
| A (8) 16,520 (A) 6,720 (B) % 6,520
(€) 6,000 (D) 7,000 (€) 6,000 (Dy 7000 -
100, %WWE@HH@ %ﬁ(}(}%magaﬁ“ 10:0. Th_e 1'15} pricc (marked price) of an
! AR 3TET 20% ua 10% i T W article s < 9_00 and 1s available at two
ITeTsY] %5 9= =1 faeeg Epi”ﬁ successnﬁrc i;llsr;:_mun‘ts of 20% and 10%.
W HeH The. selling price of the article would
(A) T 630 (B)y <730 be
~ e i (A) X 630 (B) X730 -~
(C) %648 D) THHBEE N
©) ( ]_ a (C) T 648 (D) None of these
%o B % (07 ITF / Space For Rough Work
/
2 :3759&{ /;.
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5’_ el ‘ L> |



